DRINKS @

32388

SRS

BEERS & CIDERS

DRAUBKHT BEER

SMALL LARGE 3L TOWER

Seybrew 50 90 450
Heineken 65 120 500
BOTTLE BEER & CIDER

Seybrew 45 Heineken 70
EKU 45 Hunter’s Gold 55
Guinness 45 Hunter’s Dry 55

RED, WHITE, BOSE & SPARKLING GLASS  BOTILE
B&G Cuvee 50 Bottega 75 450
Grenache 50 JC Le Roux 275

SPIRITS / LIQUERS / BRANDY

WHISKEY JOHNMIE WALKER
Jameson 45 Red Label 45
Jameson Black 50 Blonde Label 45
Glenfiddich 12 Years 50 Black Label 50
Chivas Regal 12 Years 50 Double Black 55
Chivas Regal 18 Years 65 Gold Label 80
Jack Daniel’s 50 Green Label 75
Glenlivet 50 Blue Label 160
VoD~ TEQUILA

Absolut 50 Don Julio Blanco 60
Smirnoff 45 Don Julio Reposado 60
Smirnoff Black Ice 55 Camino 50
Smirnoff Red Ice 55 Patron 55
SHOTS

Jagermeister 40 B-52 95
Sambuca 40

BIN LIOUEDRS

Gordon’s Pink 55 Malibu 40
Gordon’s 45 Cointreau 40
Bombay Sapphire 45 Tia Maria 40
Tanqueray 50 Grand Marnier 40
Hendrick’s 50 Amarula 50
Beefeater 55 Baileys 50
Beefeater Pink 55 Kahlda 40
RUNM BRANDY/COBNAG
Takamaka 40 St Remy VSOP 45
Captain Morgan 45 Beehive VSOP 45
Bacardi 50 Remy Martin VSOP 100
Takamaka Gran Kaz 120 Hennessy VSOP 100

NON-ALCOHOLIC

LERD-BLGOHOL DRINKS

SOFT DRINKS

Heineken 0.0 60 Ginger Ale 35
Tanqueray 0.0 40 Tonic 25
Soda 35
Bitter Lemon 35
ﬂ Hﬂ H @ E S Coca-Cola 35
Fruit Cocktail 35
Lime 75 Diet Coke 35
Mango 75 Fanta 35
Passion 75 Orangeade 35
Apple 25 Sprite 35
Orange 25 Red Bull 40
Pineapple 25 Water 15
TER & COFFEE MILKSHAKES
Espresso 45 Strawberry 85
Americano 45 Chocolate 85
Iced Coffee 45 Vanilla 85
Café Latte 45
Cappuccino 45
Tea (Green/Lemon/Black) 25
Iced Tea 25

All prices are shown in Seychelles Rupees (SCR) & are inclusive of VAT.
Please inform our service team of any allergies.
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